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1 Introduction
In the last meeting (RAN4#82) a WF on OTA sensitivity [1] was agreed. Along with the previous WF from RAN4#81 [2], the OTA minimum sensitivity requirement is almost complete. 

The receiver ACS and NB blocking requirements are calculated based on relative values form the receiver sensitivity. Hence now the OTA sensitivity requirement is almost complete the ACS and NB can be addressed.
2 Discussion

The ACS requirements for E-UTRA (TS 36.104) are as follows (UTRA are similar) :

Table 7.5.1-3: Adjacent channel selectivity for E-UTRA Wide Area BS
	E-UTRA

channel bandwidth of the lowesthighest carrier received [MHz]
	Wanted signal mean power [dBm]
	Interfering signal mean power [dBm]
	 Interfering signal centre frequency offset from  the lower/upper Base Station RF Bandwidth edge or sub-block edge inside a sub-block gap [MHz]
	Type of interfering signal

	1.4
	PREFSENS + 11dB*
	-52
	±0.7025
	1.4MHz E-UTRA signal

	3
	PREFSENS + 8dB*
	-52
	±1.5075
	3MHz E-UTRA signal

	5
	PREFSENS + 6dB*
	-52
	±2.5025
	5MHz E-UTRA signal

	10
	PREFSENS + 6dB*
	-52
	±2.5075
	5MHz E-UTRA signal

	15
	PREFSENS + 6dB*
	-52
	±2.5125
	5MHz E-UTRA signal

	20
	PREFSENS + 6dB*
	-52
	±2.5025
	5MHz E-UTRA signal

	Note*: 
PREFSENS depends on the channel bandwidth as specified in Table 7.2.1-1.


The absolute ACS interferer level is based on the relative ACS requirement which is found as part of the co-existence simulations and the receiver wanted signal performance:
For UTRA
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And For E-UTRA
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Note. the actual E-UTRA requirement is -52dBm, the error in calculation is interesting but not important.

For E-UTA in order to keep the interfere level constant without making the RF requirements different the wanted signal level is also kept constant. As REFSENS is lower for the smaller channel bandwidths the offset for REFSENS is altered accordingly.

It can be seen that the intention is to keep a constant delta between the Pwanted and interferer.

As the OTA min EIS requirement is found by offsetting the conducted level by the gain associated with the RoAoA, if the same offset is applied to both the ACS interferer and the wanted signal then the requirement is equivalent to the existing conducted requirement.

So as:

Minimum EIS = Conducted reference sensitivity – D + LRX + Off-peak Margin
Similarly for ACS (eg 10MHz channel BW)

Wanted signal level = Min EIS + 6dB = REFSENS +6dB –D +LRX + Off-peak-Margin

Interfering signal power = -52dBm –D +LRX + Off-peak-Margin

Or alternatively 

Interfering signal power = Min EIS + 49.5dB

Both calculations for interfering signal power are the same, the 1st version is easier to see how the original conducted requirement is offset in the same way as min EIS. The 2nd method is simpler.

The same methodology can be applied to all the ACS and NB blocking requirements.
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6.9
ACS and NB blocking

6.9.1 Background

Adjacent channel selectivity (ACS) is a measure of the receiver ability to receive a wanted signal at its assigned channel frequency in the presence of an adjacent channel signal with a specified centre frequency offset of the interfering signal to the band edge of a victim system.
The ACS level is calculated using the co-existence simulation to find an ACIR requirement for the up-link and then the ACIR is shared between the BS ACS and the UR ACLR. Both these figures are relative.

The relative ACS for the BS requirement is 45dBc.

The ACS requirement is in the form of an absolute interferer level and an absolute wanted signal level. The wanted signal level and the ACS relative requirement is used to find the ACS absolute value as follows:

For UTRA
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And For E-UTRA
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Note. the actual E-UTRA requirement is -52dBm the same as UTRA.

The wanted power is an offset from REFSENS, generally it is REFSENS +6dB however for E-UTRA as the REFSENS is different for different channel band widths the wanted power the wanted signal is fixed based on the 5-20MHz channel band width requirement.

6.9.2 Core requirement

As the conducted absolute ACS level is an offset form REFSENS, the OTA ACS absolute value can be easily found as an offset from min EIS value. As such the conducted value is offset by the same antenna gain estimation that is used for calculating min EIS e.g.

Minimum EIS = Conducted reference sensitivity – D + LRX + Off-peak Margin
Similarly for ACS (eg 10MHz channel BW)

Wanted signal level = Min EIS + 6dB = REFSENS +6dB –D +LRX + Off-peak-Margin

Interfering signal power = -52dBm –D +LRX + Off-peak-Margin

Or alternatively 

Interfering signal power = Min EIS + 49.5dB

Both calculations for interfering signal power are the same, the 1st version is easier to see how the original conducted requirement is offset in the same way as min EIS. The 2nd method is simpler.

The same methodology can be applied to all the ACS and NB blocking requirements.
--------------end of text proposal-------------
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